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You have been called for the written test based on the online data fumished by you in the web application_If you have
wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected.
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You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
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The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.
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A separate OMR answer sheet with duplicate will be provided to mark the answer options.
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Each question carries 04 marks and one mark will be deducted for each wrong answer.
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Questlon booklet series code (A/BICID/E) printed on the r|qht hand top corner should be written in the OMB
answer sheet in the place provided.

SR=T-G AT # TR A1 AT Hefshalish HeT e |

Enter your Name and Roll Number correctly in the question booklet.
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All entries in the OMR answer sheet should be with bluefblack ball point pen only.

IR Rsedt TR RS FER & e g o @ R o Srfes w9 & W g |

The questions will be objective type with four options out of which only one will be unambiguously correct.
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You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen. '
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Multiple answers for a question will be regarded as wrong answer.
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Computers, calculators, mobile phones and other electronic gadgets, text bboks. notes etc., will not be allowed
inside the written test hall.
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On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.
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The questlon booklet can be retained by the candidates.
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Candidates are not permitted to leave the examination hall during the first hour of the examination.
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dhNfAga-dr — H’Qﬁﬁ?—? ( 1294)/T echnician-B — Machinist (1294)

_ﬁmﬁ@aﬁﬁmﬂ?ﬁﬁmﬁﬁﬁaﬁﬁméﬁmﬁmwaﬁ
frfafer &1 suier far Smar ¥

Which of the following mechamsm is used in a shaper to convert the osc111atory motlon to linear
motion‘? ]

(a)
(b)
(©
(d)

gH g aH I fharfaf®/Worm and worm wheel mechanism
dad TR fspanfafe/Bevel geaf mechanism

i T Teligs fohanfafe/Crank and slotted mechanism

el e arax fRarfafei/Bell crank lever mechanism

y@mﬁmmmw—;——a:m%mm%|

Clapper box in a shaper is uséd in order

(2)
(b)
(©
(d)

SR $r Fﬁﬂé ¥ F9=/To avoid length of tool

el fohaT ﬂﬁf@ﬂﬁ &=1/To ensure cutting action

T ¥ & g1 ISR &l 3313/ To lift the tool during return stroke
e Telh & R AR F1 38/ To lift the tool during cutting stroke

TUE § Treel TR #1 RW &

The purpose of tumbler gear in a lathe is to

@
(b)
©
(d)

TR s shaw/Cut gears

‘dhedl "Tﬁ'f hH h{-l/Reduce spindle' speeds

I =t i g ﬁQT YU HH/Give designed directions of movement to the carriage
mﬁ?ﬂ <hl 3cshHUT/Reverse the spindle direction ‘

TF Tl AT F HET BE e ——— F T B

The main feed shaft of a slotting machine is driven by

(a)
(b)
©
(d)

ddol ﬁT?SIT W/Bevel gear mechamsm _
qie g YT I% W/Pawl and Ratchet wheel mecham3m

cFgeR PR W/’T umbler gear mechanism
aH g g7 R BFarfafy/worm and worm gear mechanism
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ﬁamm%@wmmﬁﬁﬁwtﬁvmﬁmﬁ%—e—ﬁ

To form small length of taper for mass production, method preferable is

(@) A fo# feparfafe/Compound rest method
(b) Te3a/Set over
(c) 3SR &1 [FA0/Form tool

(d) FeldsIdl/Attachment

Tl —— 9T fr SAedarel JdTe g

Knurling is the operation done on
(a) oY/Lathe

(b) fAfEMilling

(c) EYUT/Grinding

(d) HWFWShaping

AR welie &, UIq A aF e ST § o e ————— fer # awel ¥
In a planing machine, the metal is removed when the table moves in

(a) 3131 fe&=M/Forward direction

(b) 9T fEA/Backward direction

(c) 33T T 9™ f&QM/Forward and Backward direction

(@ Hrgarsy f&2Mm/Crosswise direction

WWWRaW——«—@W?I

Ra value of a surface refers to

(a) Y& W T 1T YT & FhR/Type of coating given on a surface
o R LS f&IT AT FSAT 3YdR/Heat treatment given on a surface
() T $T FeIdl/Roughness of a surface

(d) T #T FHERd/Hardness of a surface
4 1294/16



10.

|

12

STmsTE gumell A 3uged fhew F A 7T TR ——— §

The three main classes of fits used in the BIS system are

(a) %VCFIEFI', HhHAT g E‘JﬁWUT/CIearance, transition and interference

(b) TR e, FomsfEer fe @ TR Mhc/Loose fit, sliding fit and expansion fit

(c) 33 fie, welc e T 9AR fe/Round fit, flat fit and expansion fit

(d) erse fhe, ger e @ MfsaA e/ Tight fit, push fit and medium fit

L7 geleh 3@t # —— &1 gfafafica avar §
/7 symbol in a drawing represents

(a) HTEM9eA/Straightness
(b) TTHRA/Parallelism
(c) HHdAA/Flatness
(d) FAMARY/Symmetry

I AN FIN ST gele AT Fr ey — F

Advantage of capstan and turret lathe over other lathes is

(a) E!g HISIRT &7 FATYA/3TRI90T/Mounting of multiple tools
(b) 3TU FIfddl W gATaA/Operating at high speeds

(c) | AT & T TIA/Simplest of all Lathes

(d) BT &R F v 3R_A/Suitable for small works

Th 9 ARy M12x 1.25° F ‘M ——— T gRAd Fe §
In the thread designation ‘M12 x 1.25°, ‘M’ specifies

(@) $fcas Ud/Metallic thread

(b) HAAT HFET T9/Man made thread

() &R M= J9/Constant pitch thread

(d) 3MITH3T Afed YA/NSO metric thread
5
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13-

14.

i B

16.

17.

U SUF A MS x 0.8 F NIRRT frar am ¥ A Ow fRT smr i S 4 A T

Fueety Yai &1 Hear —— ¥l
A fastener is designated as M5 x 0.8. If the length of the threaded portion is 4mm, the number of
threads available is

(2)
(b)
(c)
(d)

3.2
4
5
0.8

a‘mmﬂmmmqﬁﬂawﬁ%mmawﬁ

Balls or rollers are used for precision measurement because

- (a)

I qﬁ‘{])EHT EI'\Uﬁ' ©/They are precision finished
(b) J ASA AT ﬁ'{{' TY& YST Hld &/They provide line or point contact
(c) THTeler # 3TTATA &/They are easy for handling
(d) SHT 3cHiceT AT & fRAT ST TehdT 8/They can be produced easily
FreTEs AR &F T ——— @I TS F
Coating on a carbide tool increases
(@) T= ﬂ?&ﬂ/surface protectio'n
(b) ot gfeRI/wear resistance
(c) 3SR &I 3 /tool life
(@) 3aded Felall of the above
gordl oligl ———— T 3ETeRT &
Cast iron is an example for
(a) doI ger2/Ductile material
(b) 34?3 qeTy/Brittle material
(¢) 3=U dcd qer)/High strength material
(d) 3'@3’4?[ # & FIS wI51/None of the above

af v B &7 earg 20 g dwe @ 1970 § o feras s ————

If the diameter of hole is 20! and shaft is 19.7°%1, the minimum clearance is

(@)
(b)
(©)
(d)

0.4
0.3
0.2
B

gl
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18.

19.

20.

21

22,

smyfees gaarfoad gomel ————— W 3R

Modern hydraulic systems are based on

(@) YT HT frg#H/Newton’s laws
(b) S=felr fAgGA/Bernoullis principle
(c) I®cd/Gravity

(d) YTFhel S A/Pascal’s law

U 'Yor T H, I ‘C—— T 2T &
In a grinding wheel, grade ‘C’ indicates

(a) g Tsh/Soft wheel

(b) H3TA TH/Medium wheel

() FOR Tsh/Hard wheel

(@ B'Q'{ﬁfl-_cl' # @ FIS A¢/None of the above

g-aeer wor BT #§ afae 37— wfafaf@ica #=ar gl
In an ‘Iron —Carbon’ Phase diagram, horizontal axis represents

(a) dTY9HATA/Temperature

(b) @TeleT AT FTcercdl/Percentage of carbon

(¢) HAIdA/Volume

(d) ScTHTA/Mass .

TeATEdT T A ——— AT &1 ST gl
Modulus of elasticity is given by

(@) ﬁi?%/qﬁaﬂlsuajn/stress

(b) ‘}Iﬁﬁﬂﬁ?%/Stress/strain

ey 1/ ﬁif%/ 1/strain

@ U gfasel/ 1/stress

fagpfa &1 gohs ——— @

Unit of strain is:

(a) mm

(b) N/mm?

(c) MPa

(d) 39dad #H ¥ FS E/None of the above
7
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23,

24.

25,

26.

27

ghellT #F saTae T F ITIET cafeer JfA H ———— P ¢l
A planing machine, which is most widely used in workshop, is called

(a) &fd g3fder wafeder AMA/Double housing planing machine

(b) fe cafder A2M=/Pit planing machine

(c) gaarfad calfeer ARN=/Hydraulic planing machine

@) fmfaa e waifear AMA/Divided table planing machine

gaeT # Ao i 3 g HwaH dAr J gedlt afg g ———

T | _

Tool life in turning will decrease by maximum extent if we double the
(a) <hIC &r ?I'&'l'lé'/depth of cut

(b) WHIs/feed

(c) el AdM/cutting velocity

(d) 3SR Y& FI0T/tool rake angle

et TR S e g ST 3

Multi — start thread, when compared to single — start thread has

(a) Uehdd El;’h o ToTT f1 3|m/Lower advancement for a single rotation .
(b) <hH 9 &/ Lesser bearing area

(¢) 3H H3{9T/Hi gh friction

(d A s1aol @Afd/Lesser power loss

ww B # g Srsmea o ————— & 99 2

The lip clearance angle of a drill is between

(@) 3o’
(b) 8°to12°
(¢) 12°to020°
(d 0°

FE ——— H YAPHAAT AT Bl
The job reciprocates in

(a) 3Mhciigal ARMeT/Shaping machine
(b) velfeieT F2M/Planing machine

(c) TTfEar FMN/Slotting machine
(d) 39herd AL of the above

1294/16



28.

29.

30.

by

32,

SATHA IR Hl 3880 — |
The purpose of normalizing is to

(2) uerd Fr g AT/Soften the material
(b) TFAAT TS/ Increase the toughness

(c) HITT HT IRSHA/Refine the structure
(A Y55 %ORUT/Harden the surface

U fer &1 gferher 0T —— @1 giRa awar
The helical angle of the drill determine the

(@) ol ﬁUT/Cutting angle

(b) a9 FIUT/Web angle

(c) IF FIUT/Rake angle

(@ forT UT/Lip angle

High———— i
H7g6is a

() TRYEAT fe/Precision fit
(b) o IOOTaT/Loose running
(c) T3 fhe/Shrink fit

(d) HHAYT e/ Transition fit

feysT § gred Qo gv6 ——— & for 7 ¥

The quality of a surface finish obtained by lapping is in the range of

(a) NItoN4
(b) N4toN8
(c) N6toNI10
(d) N8toNI2

100 mm SATH dTel U HIeX & T TS & geTAT F4T 2

What shall be the mass of a Dia. 100 mm steel rod for one metre?

(@ 15MRam/nskg
(b) 42fFam/a2ke
(c) 62 fh.am/62kg
(d) 100 fh.3m./100 ke
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33.

34.

35

36.

wﬁma:ﬁsqﬁﬁ_——ﬁqﬁaﬂﬁa%mmm%l
Module of a gear is defined as
(2) T ourg @ & T HEIT HM i
Ratio of pitch diameter to number of teeth
(b) UssH ¥ f8SwsH H Heurd
Ratio of addendum to dedundum
() ToT ged =am| ¥ &d & o5 & A
Ratio of pitch circle diameter to land of the teeth
@) T =ur| @ SRed USesH &I 3fedid

Ratio of pitch diameter to chordal addendum

Waﬁmﬁwﬁ,ﬂwww, 19 .. @ afTaT T # 20
Wﬂﬁﬁﬁ%ﬂﬁﬁmm%lmﬁ?—ﬁ—%l

In a vernier caliper, the main scale division, 19 mm is divided into 20 equal parts in the vernier
scale, Least count 1s

(a 0.1

(b) 0.05

(e} 0.93

d 1.05

Qd g ———— ﬁfrﬂfg gl

White metal is an alloy of

(@ fe=, giar @ Ufeeds1/Tin, copper and antimony

(b) &=, By a ardT/Tin, Phosphorous and copper
(c) o, ek g T AT/Copper, zinc and lead

d) ﬂﬂm, @ar g fSieh/Aluminium, lead and zin§

Rastier weiore ‘95 & ¥ 3R el ‘@ ———— WRSUET ¥ F Sfectdd Fa El
In the dimensional expression ‘@25 % letter symbol ‘e’ refers to the tolerance of

(a) B/hole

(b) AF/shaft

(©) ﬁé 37 f@AT/any dimension

@) &g a1 AFcleither a hole or a shaft

10 1294/16



37.

38.

39.

40.

Ush AT fhe
A transition fit

(a) e ForsepraeT AT el SATASROT ST &l
Sometimes provide clearance and sometimes interference
() AT & &7 & Y AsHET F SATARIOT FHT THAUT ST gl
Provide transition from clearance to interference along the axis of shaft
) Frshrid e s 3R cafaeor g 9 &ar g

Provides clearance in one end and interference in other end

(d) A Ashrast &dT §/Provides always clearance

TF el YW & Fil H SAH Dy d D& & Aeeat d Jg7 ¢l e &
SgFT del HT Heqdd ———— & IS ¢

A fluid line is connected to two pistons of diameter D; and D, at two ends. The ratio of force
applied on pistons is proportional to

(a) D;/ D,
(b) Dy’/Dy’
(©) D13/ Dz3

(d) dot 2T ATea § @A W@aM/Force will be same on both pistons

wé&*wﬁaﬁma{@gﬁ?gﬁ—ﬁmﬁmwﬁl
A jockey or idler pulley is provided in a belt drive to

(a) T T 3T Fali/Increase arc of contact

(b) dec dalld I sglei/Increase belt tension

(c) Folsh Held & Tell/Decrease slackness

(d) 39T WAL of the above

B e oot R

The rake angle in a milling cutter

(a) BHAT YATcHSF/is always positive
(b) EHLT FUTcHH/is always negative
(c) @A eAlis always zero

(d) YellcHh, HUMcHS AT YA & ThdT §/May be positive, negative or zero
11 1294/16



41.

42.

43.

44,

siftrhad F wgeds st A FHEAAT JAN ———— &

The gauge which is adjustable to the maximum and minimum limits is
(a) WITHAT TerdT YHTHI/Progressive plug gauge

(b) TUX el YA/ Taper ring gauge

(c) YT g AT/ Thread ring gauge

(d) TIT JAT/Snap gauge

afd e G & g ————— ¥

The lead in a double start thread is

(a) T & 3ME/Half the pitch

(b) = o HHT/Equal to pitch

(c) = & FIAIDouble the pitch

(d) ﬂ'{i’ﬂ'—d qA ﬁé sT61/None of the above

s G —— & TH G &
Saw tooth thread is a form of

(a) T YdA/Square thread

(b) @ 9TV thread

(c) HMBT @37 Ja/Modified square thread
(d) TS e/ Trapezoidal thread

8%}&.%#%@%&'@3@%9&%@?%%@%#@@

3R 0.2 A, Tur 937 3FR 005 B & § a RBeeds & @ B & Ba &3 &
T 71T B F1 9y —— g ¥fgvl

A hole is to b'e reamed on Mild Steel with a 8mm reamer. If the undersize is 0.2mm and oversize is
0.05mm, diameter of the drill for drilling the hole before reaming, ideally should be

(@) 7.75 A.#H/7.75 mm
(b) 7.95 A.#./7.95 mm
(c) 8.05 fA.#/8.05 mm

(d) 82M.#A/82mm
12 1294/16



45.

46.

47.

48.

49.

SR g # yAE A e d —— B

Predominant alloying element in stainless steel is

(2)
(b)
(©
(d)

hIdTec/Cobalt
ﬁd’l'o"-ﬁ?r/lvlanganese
fSeReT/Nickel

I fAIH/Chromium

3T A XA A ] HrAmr — )

The carbon content in high carbon steel is

(2)
(b)
(©)
(d)

0.6% & FATET/More than 0.6%
1.4% 8 FATET/More than 1.4%
14% & A&/ More than 14%
50% ® FATET/More than 50%

TAfATTH 1 gdea —— B

Density of aluminium is

(a)
(b)
(c)
(d)

1.6 g/em®
2.7 gfem®
4.5 glem®
8.2 g/em’

L5 fAF. & 09 & I9d UF 4917 99 & Fad & QU aeas TR ofiades &
T4| o5 & &1 B g fFa &

Select the change gears required to cut a 4-start thread having a pitch of 1.5mm. The lead screw has
a pitch of 8mm

(2)
(b)
(©)
(d)

45/60
60/80
70/90
80/100

SR T FaqraRg F Ao —— F|
The angle for two flanks of buttress threads are

(a)
(b)
(c)
(d)

a1t 29°/Both 29°
alAr 12°/Both 12°
7°F 45%7°and 45°
20° T 29°/20° and 29°

13
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51.

2.

53.

H7/k6 ————— Bl
H7/k6 is a

(@)
(b)
©
(d)

Tanfare GshAUT TWhe/Locational transition fit
rarrfares saraa fthe/Locational clearance fit
Tarfares cafaeior TWhe/Locational interference fit
fafead gsa fhe/Medium drive fit

=TT FT I AGH ————— &

The Youngs modulus of steel is

(2)
(b)
(©)
(d)

e faeor FEdar ——

207 GPa
120 GPa
70 GPa
50 MPa

& FRUT g &l

Crater wear occurs mainly due to

@
(®)
(©)
(d

3TEYUT/Abrasion
faaoT/Diffusion
3{TerdTeoT/Oxidation
31 sTe1/Adhesion

soﬁ.xﬁ.mﬁwfﬁrﬁmmﬁa’rzﬁ%lmmﬂmomﬁr.sﬁm@g

ﬁﬁmmémmmﬁlwmmﬁﬁmwmﬁm

s Bra 1 12 AcyBee 9 wad Y @ 0.15 A F Bis ufa g @ ae R
e ¥ fafese wa AuiRa S3

A milling cutter of 80mm diameter has nine teeth. It is used to mill a 240mm long work piece. The
run over is 4mm and the depth of cut is 5 mm. A cutting speed of 12 meters/min. and feed per tooth

of 0.15mm has been selected. Determine the milling time.

(a)
(b)
©
(d)

12.35 f@+1¢/12.35 min
1.18 fA=1¢/1.18 min
4.0 fA=1C/4.0 min
23.5 [@e1¢/23.5 min

14
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54. oo Fih AR fAfr &1 3ueer & 0w D @ s d #, R e i Afvaa

55,

56.

51

daE | & (PR BT FA d@rS L ), IR F deeld A YR F AT K FT 1 IRFereT
|

Formula to calculate the value of setover using tailstock setover method to turn taper from diameter
D to diameter d to a certain length | of a job (Total length of the job is L) is

(a) 630(D-d)/(2L x 1)
(b) (D-d)l/(2L)

) (D-d)L/21)

@ D-dUL

SIMAAT 7-8-5-6-9-4-1 fALH. Fad=t 3aR & @Tss & &1 AT ——— gl
The value of side rake of the turning tool of geometry of 7-8-5-6-9-4-1 mm will be

(a) 5deg.

(b) 8deg.

(c) 7 deg.

(d) 9deg.

n WIRT et & v gidis g, C ¢oRk R g, Aae & 3o sm3(n), awr@fAse &7
HdeT A (V) &1 STk & T G9 ——— @)

The relationship between tool life (T) in minutes, cutting speed (V) in m/min, n is the exponent for
conditions tested and C, the Taylor’s constant is

@ V'T=C
) VT'=C
() V/T'=C
@ VYT =0

e et a1fd 8 AT &, el THT F AON FAT FT U 2:3 TAT B 2
f.#r./fa F% & a1 600 x 600 FA.AY. & Ta wole # HYUT @Ie & AU g AT &
T 3feTa IFT FT 9aT TN Uedsh @il H STHT osehraa 75 AL B

Find the time required for a slotting machine for making a complete cut on a plate 600 x 600 mm if
the cutting speed is 8 meters/min, for the geturn time to cutting time ratio 2:3 and feed 2mm/double
stroke. Clearance at each end is 75mm.

(a) 4.6 A=IC/4.6 min
(b) 46 TATT/46 min
(¢) 92 fAIE/92 min

(d) 184 f&=1¢/184 min
15 1294/16



58. Taredr AdA A, 30Fd$qi?riﬁatqtﬁlofﬁ.ﬁr.$@$ﬁaaﬁraéﬁ?rﬁr(m

59.

60.

61.

62.

T & A GAT H A = 2:3) ——— &l
In a slotting machine, the cutting speed for a stroke length of 610mm at 30 strokes per minute
(return time to cutting time ratio = 2:3)1s

(a) 30.5 FA/fAFE/30.5 m/min
(b) 40 fAMAFC/40 m/min

(¢) 50.3 fA/MAe/50.3 m/min
(@) 5.03 A/fAFE/5.03 m/min

mﬁﬁmﬁmmﬁiﬁwaﬁﬁaﬁm%mwwm—_ﬁ%l

For Aluminium alloys, recommended rake angle for a milling cutter tool is
(@) 14°

(b 12°
() 0°
@ 30°

fafesier Fefe # wrer qof ges & aorar ———— ¢
The quality of surface finish that can be achieved on a milling machine is

(a) N4toN11
(b) N3toN6
(c) N2toN4
(d) NlltoNI12

e FheT —— & 3o & fow HfY 3ugEd T
CNC Machines are best suited for —————— production

(a) GcTHTT/mass

(b) THW-3iT%/one-off

(c) Sd/batch

(d) 3'?{13'?[ GI/all of these

mﬂﬁﬁqﬁhﬂmd———aﬁga:mﬁmmm%l
Circular profiles can be produced on a CNC using —————— code
(@ GO09
(b)y GO3
(c) GO8
(d) GO6
16 1294/16



63.

64.

65.

66.

67.

W @ e ¥ A s e ¥
An ATC plays a significant role in reducing

(a) 3T FAI/Idle time

(b) 3SR FHI/Tool time

(c) TFFuT AF/Control time

(d) SIS AT Fdel/Actual Time Cutting

‘HTATH® FI Adeld —— &l

‘CMM’ stands for

(a) m@’ﬁﬂﬁ A9 ALMA/Computerized Measuring Machine
(b) EFW;E.‘?E([-H fafesar FMe/Computerized Milling Machine
(c) T HAAd AT FAMHA/Coordinate Measuring Machine

(d) HTeAFT Yerd YatH/Computerized Material Management

o (&

Terer STasil ® swrar S o fore 3 2

Out of tipped tools, Brazed — on tips are ideal for

(a) T i 3T N =4 FR/Fine cuts and li ght duty works
(b) TR e 3 fomme & h{d/Deep cuts and large area cuts
(c) fata= h{c/Interrupted cuts

(d) 39FT FHVAI of the above

U WA AN o A Brsdd FT F 3T ——— HT AT A H g
The purpose of a feedback device in a CNC machine tool is to find

(@) ITH/Speed

(b) falc?ﬂ'qFWDisplacement

(¢) del/Force

(d) (a) AT (b)/(a) and (b)

T HETEIT AR 9w A, A9 P & de9y # 9w 9 f s ——— ¥
In an ISO Metric thread, the depth of an external thread in terms of pitch P is

(a) 0.61343P

(b) 0.54127P

(c) 0.14434P
(d) 0.86603P

17
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68.

69.

70.

7L

afr D’ g EAE, ‘d° ST SO g 2uRd w Wg &I FErs § dl W A
3ttt enfAe Hol(0) ——— &

If ‘D’ is big diameter, ‘d’ is small diameter and ‘I’ is length of a tapered work piece, the half
included angle(o) of taper is given by

(@)
(b)
(©
(d)

tan o= (D-1)/d
tan o = (D-d)/(21)
tan o = 1/(D-d)

3'q?_ﬁ;ﬁ“?f p= gk B sT8l/None of the above

AR FetlEs ——— @ @[T ¥

Cemented carbide is made of

(@)
(b)
(©)
(d)

m?-f, T g ATAfadA/Carbon, tantalum and niobium

Fra, hldlec I TICaA/Carbon, cobalt and tungsten

FlaeT, cIEesT g eTeidl/Carbon, tungsten and tantalum

3‘!@% HO 5 sTel/None of the above

I@T F wE ged 1 avers 0.2 F sfeafa e &) gwer Aded ¢ -

Circularity (roundness) of a circle is specified in a drawing as 0.2. It means

(@)

(b)

©

()

Rz @1 &g Rig 02 & aRafid & e ¢l

The centre of hole can vary by 0.2

fog & s 02 ¥ gRafdd & @dl &l

The radius of hole can vary by 0.2

g @l eare 0.2 ¥ gRafdd g Fohdr &l

The diameter of hole can vary by 0.2

S0t 3o & HHRE ged & i gl AT S FF 0.2 Bed § F 31T &

The entire circle should lie between two concentric circles, which are radially 0.2 apart

af P kef & AR ¥ aA @ BAL 7 Fgem Amey At § A s Horar A HY
SUE— - .|

If ‘P’ is the load in kgf and d’ is the mean diagonal of impression in mm, then vicker hardness
value HV = i

(a)
(®)
(©)
@

1.8544 x P/d®
P?/(18544 x d)
1.8544 x P/d
P/(18544 x d)
18 1294/16




72,

73.

74.

Tk

YT Tk 3 “A 56 K 5 V 757 # 56" — &I 3ifhd &ar gl
In the grinding wheel marking “A 56 K 5 V 757, ‘56’ denotes

(a) 3TEYF YhR/Type of abrasive
(b) AS/Grade

(©) TXTAT/Structure

(d) TIT HTFHR/Grit size

o . Rra & qoa v @ 49 ¥ A7 F 6 A R du wey i AR oReew
T 30 & § o afmnfod # ———— &4 g e

To cut 6mm pitch thread on a lathe having lead screw of 9mm pitch, if the driver is of 30 teeth, then
the driven should have

(a) 20 E&d/20 teeth
(b) 30&d/30 teeth
(c) 45 &d/45 teeth
(d) 60 &d/60 teeth

4 G gfdr $9 @ IFd U AU A $T & 0.4 3RET & T R FCA g P eI Hr
AT Y|

To cut a worm of 0.4 inches lead, on a lathe with a lead screw of 4 threads per inch, select the gear
ratio.

(a) 80/50
(b)  100/60
() 120/80

(d 140/100

2o gﬁwaﬁl

12

Simplify : % + %%
@ —

® =

© =

@ =
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76.

17

78.

79.

80.

frafaf@a & 2 9 52 F & 9 &l

Which of the following is a fraction between 2 and 5/2
(a) 75

by 772

(c) 9/2

(d) 9/4

5.11,17,23, ... Soft & 9 ug Hi=-4AT &2
What is the 9% term in the series 5, 11, 17,23, ...
(a) 47

(b)y 41

(e) 33

(d 35

aqﬁaﬂaﬂtmﬂﬁﬂmﬂﬂzswﬁlSﬁﬁaaasﬂ?rarﬂgv‘assmmwﬁ?r

g T Aad @ B AAER) & e e &7
Cost of two Pencils and 3 Pens is Rs.25. Cost of 8 Pencils and 5 Pens is Rs.65. What is the Cost of
One Pen and one Pencil together?

(a) Rs.10
(b) Rs.11
(¢) Rs.8

(d) Rs.13

If& tan @ =% §, ol sin0 SEEDP |
Iftan @ =% ,thensin81is ?

(a) 4/3
(b) 5/4
{c) 35
(d 573

N7 FATTT TEAHT F NS 39 B et H ged Ugdr HA-Ar g2

The sum of three consecutive numbers is 39. What is the first of the numbers?

(ay 13
(b)y 12
() 14
(d 1
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